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KENDRIYA VIDYALAYA ‘K’ AREA ZIRAKPUR 

HOME WORK FOR STUDENTS DURING AUTUMN BREAK 2022-23 

CLASS XIIA 

SUBJECT PHYSICS 

 

1. All students will revise the whole syllabus completed till October 1,2022 for 

preparation for Preboard-1 Exam 

2. Before Pre-Board, Monthly Exam will be conducted at the end of October Month. 

Most of the Syllabus for that will be Electromagnetic Induction & Alternating 

Current, Electromagnetic waves and Ray Optics. 

3. Chapter wise MCQs are given as mentioned below. Students will write the answers 

with explanation (in brief) to these MCQs in Physics Homework notebook. 

4. Students will complete the Art Integrated Learning Project (emailed to each 

student), allotted to them. Investigatory Project allotted during summer vacation 

should also be completed by each student. 

5. Students will solve the CBSE Sample paper 2022-23 for the questions till Ray Optics 

and the Monthly Exam (September Month) and also paste the Question papers in 

Physics note book. 

 

 

 

 

 

 

MAGNETIC EFFECTS OF CURRENT 

 

 

1. Which has greater resistance? 

(a) Milliammeter  (b) Ammeter 

(c) Depends on use  (d) None of these. 

 

2. Through two parallel wires A and B, 10 and 2 amp of currents are passed 

respectively in opposite directions. if the wire A is infinitely long, the length of the 

wire B is 2 m the force on the conductor B, which is situated at 10 cm distance from 

A will be 

(a) 8 x 10
-5

N   (b) 4 x 10
-7

N 

(c) 4 x 10
-5

N   (d) 8 x 10
-7

N. 

 

3. A moving coil type of galvanometer is based upon the principle that 

(a) Wires carrying a current experiences a force in magnetic field 

(b) Wire carrying current produces a magnetic field 

(c) It has a horse shoe type magnet 

(d) All are true. 
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4. A voltmeter has a resistance of G ohm and range V volt. The value of resistance 

used in series to convert i into voltmeter of range nV volt is 

(a) nG   (b) (n – 1)G 

(c) n

G

   (d)  1n

g

 . 
 

 

 

5. The deflection in the galvanometer falls from 50 divisions to 20 when a 12 ohm 

shunt is applied. The galvanometer resistance is 

(a) 18 ohm   (b) 36 ohm 

(c) 24 ohm   (d) 30 ohm. 

 

6. A charged particle moves in a uniform magnetic field at right angles to the direction 

of the field. Which of the following charges? 

(a) Charge of the particle (b) Speed of the particle 

(c) Energy of the particle 

(d) Trajectory of motion of the particle. 

 

 

7. A galvanometer of resistance 18 shows a deflection of 50 divisions. When this 

galvanometer is shunted with a 12 resistance, the deflection shall fall to 

(a) Zero   (b) 10 divisions 

(c) 20 divisions  (d) 25 divisions. 

 

8. The velocities of two -particles A and B entering a uniform magnetic field are in 

the ratio 1:3. On entering the magnetic field, they begin to move in different circular 

paths. What is the ratio of the radii of curvature of the paths of the particles? 

(a) 3:1   (b) 1:3 

(c) 2:1   (d) 1:2. 

 

9. A very long solenoid has 800 turns per meter length of the solenoid. A current of 

1.6A flows through it. Then the magnetic induction at the end of the solenoid on its 

axis, is nearly 

(a) 32 x 10
-4

T   (b) 16 x 10
-4

T  

(c) 8 x 10
-4

T   (d) 4 x 10
-4

T. 

 

10. A galvanometer gives full scale deflection from a current of one microampere. The 

resistance to be connected in series with the galvanometer, so that it reads 1 volt for 

full scale deflection is nearly 

(a) 0.5 mega ohm  (b) 1 mega ohm 

(c) 1.5 mega ohm  (d) 2 mega ohm. 
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ELECTROMAGNETIC INDUCTION & ALTERNATING CURRENT 

 

1. The primary of a transformer is made with 100 turns of wire while the secondary 

has 3000 turns. What will the potential difference across each turn of wire in the 

secondary when the primary is connected to a P.D. of 80 volt A.C.? 

(a) 0.24 volt   (b) 0.08 volt 

(c) 240 volt   (d) 0.8 volt. 

 

2. If E = 0.34 cos [3000t + 0.74] where E and t are in mV and s respectively, then the 

frequency will be 

(a) 

1500

 Hz   (b) 3000 Hz 

(c) 1.65 Hz   (d) 1747.96 Hz. 

 

3. In an LCR circuit, the capacitance is made one-forth, when in resonance, then what 

should be change in inductance, so that the circuit remains in resonance? 

(a) 4 times   (b) 1/4 times 

(c) 8 times   (d) 2 times. 

 

4. The peak value of an alternating current in a 100 resistor is 3.0A. The power 

developed in the resistor is 

(a) 44W   (b) 40W 

(c) 50W   (d) None of these. 

 

5. The frequency of D.C. mains in India is 

(a) 50 Hz   (b) 60 Hz 

(c) 0 Hz   (d) 314 Hz. 

 

 

6. What is the coefficient of mutual inductance, when the magnetic flux changes by 2 x 

10
-2

Wb and change in current is 0.01 A? 

(a) 2 henry   (b) 3 henry 

(c) 1/2 henry   (d) Zero. 

 

 

7. Two similar circular co-axial loops carry equal currents in the same direction. One 

bringing the loops close together, the current in 

(a) Each loop will decrease 

(b) Each loop will increase 

(c) Each loop will remain unchanged 

(d) One loop will increase and in other loop will decrease. 
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8. A metal aeroplane having a distance of 50m between the edges of its wings is flying 

horizontally with a speed of 360 km/hr. At the place of flight, earth’s total magnetic 

field is 4.0 x 10
-5

 weber/m
2
 and angle of dip is 30

o
. Find the induced potential 

difference across the edges of the wings 

(a) 0.01 volt   (b) 1.0 volt 

(c) 1 milli volt  (d) 0.1 volt. 

 

 

9. A copper rod of length l is rotated about the end perpendicular to the uniform 

magnetic field B with constant angular velocity . The induced emf between the two 

ends is 

(a) Zero   (b) 8

tB 2

 

(c) 

2tB
2

1


   (d) 

2tB
4

1


. 

 

10. A magnet is moved towards coil 

(i) quickly    (ii) slowly. 

Then the induced emf is 

(a) Larger in case (i)  (b) Smaller in case (i) 

(c) Equal in both the cases (d) Cannot say. 

 

11. Whenever magnetic flux linked with a circuit changes, 

(a) It is the emf which is induced first in the circuit 

(b) It is the current which is induced first in the circuit 

(c) Both the emf and current are induced at the same moment 

(d) None of the above. 

 

12. Negative sign appearing in Farady’s law of electromagnetic induction indicates that 

(a) The induced emf is produced only when magnetic flux decreases 

(b) The induced emf is opposite to the direction of magnetic flux  

(c) The induced emf is opposes the change in the magnetic flux  

(d) None of the above. 

 

 

 

13. A solenoid has 1000 turns wound over a length of 0.50m. The area of its cross-

section is 1.5 x 10
-3

 m
3
. Around its central section, a coil of 500 turns is wound. If an 

initial current of 1A in the solenoid is reversed in 375 micro sec, the mutual 

inductance between two coils and emf induced in the coil is equal to 

(a) 1.88 mH, 20V  (b) 1 mH, 1V 

(c) 1.88 mH, 10V  (d) 1.88 mH, 5V. 

 

14. A coil of insulated wire is connected in a series with a bulb, a battery and a switch. 

When the current is completed the bulb lights up immediately. The circuit is 
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switched off and a rod of soft iron is placed inside the coil. On completing the circuit 

again, it is observed that 

(a) The bulb is not so bright 

(b) There is a slight delay before the bulb lights to its normal brightness 

(c) The bulb is initially bright but gradually becomes dim 

(d) The bulb is brighter than before. 

 

15. The output voltage of an ideal transformer, connected to a 240V a.c. mains is 24V. 

When this transformer is used to light a bulb with rating (24V, 24W), calculate the 

current in the primary coil of the circuit. 

 (a) 0.3A  (b) 0.1A  (c) 0.8A  (d) 1.02A 

16. A sinusoidal ac current passes through a resistor of resistance R in LCR series 

circuit which is in resonance. If phase difference between supplied voltage and 

supplied current is   and peak value of supplied current is I0, then power dissipated 

in the ckt is :- 

 (a) 2

0 cosI R    (b) 
2

0

2

I R
  (c) 2

0I R  (d) 
2

0 cos
2

I R


 

17. In a series LCR circuit, resistance R = 10 and the impedance Z = 20. The phase 

difference between the current and the voltage is
 

(a) 30°    (b) 45°   (c) 60°    (d) 90° 

 

18. What is phase difference between voltage and current in LCR series circuit at 

resonance? 

(a) 45
o
   (b) 30

o 
  (c) 90

o
   (d) 0

o
 

 

 

19. In a step-up transformer, turn ratio is 8 : 1. A 60Hz, 120 volt input is connected 

with its primary coil. Load resistance in secondary coil is 
410  . Find current in 

secondary coil. 

             (a) 96 A     (b) 0.96 A  (c) 9.6 A  (d) 96 mA 

 

20. An inductor L of reactance XL is connected in series with a bulb B to an a.c. 

source as shown in the figure. 
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How does the brightness of the bulb change when Number of turns of the inductor is 

reduced? 

(a) Increases  (b) Decreases  (c) Remains same  (d) none of 
these 

 

 

 

RAY OPTICS 

 

 

 

1. Light of wavelength 6000Å in air enters a medium of refractive index 1.5. What will be 

its frequency in the medium? 

i. a) 6 x 10
14

Hz  b) 5 x 10
14

Hz 

ii. c) 4 x 10
14

Hz  d) 4 x 10
15

Hz 

2. When light undergoes refraction, what happens to its wavelengths? 

i. a)  changes  b) remains same 

ii. c) always increases  d) always decreases 

3. How does the frequency of a beam of ultraviolet light change when it goes from air into 

glass? 

i. a)  no change  b) decreases 

ii. c)  increases  d) none of these. 

4. At critical angle what is angle of refraction? 
i. a) less than 90

0
 b) greater than 90

0 

ii. c) equal to 90
0
  d) none of these. 

5. Write the value of the refractive index of liquid in  which glass of refractive index 1.5 

disappears? 

i. a) 1.5   b) 1.2 

ii. c) 1.3   d) 1.0 

6.  Write the value of the critical angle for a material of refractive index 2
½
? 

i. a) 45
0
   b) 60

0
 

ii. c) 50
0
   d) 40

0 

7.  What is the relation b/w the critical angle and the refractive index of a material? 

a. a)  μ=sinC  b) μxsinC=1 

b. c) μ/sinC=1  d) none of these. 
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8.  For  total internal reflection to occur 

a. a) I = C   b) I˂C  
b. c)  I> C   d) I=90

0 

 

9. Which of these material has largest refractive index 

a. a)  air   b) water 

b. c) glass    d) diamond. 

10.  What should be the position of an object relative to a biconvex lens so that it behaves 

like a magnifying glass? 

a. a) u>f   b) u<f 

b. c) u=f   d) u=v 

11.  SI unit of power of lens is 

a. a) cm
-1

   b) m
-1

 

b. c) watt   d) Kwatt 

12.  If the power of lens is +5 dioptre, what is its focal lengths? 

a. a) 25 cm   b) 30 cm 

b. c) 20 cm   d) 15 cm 

13.  Two thin lenses of power of -2.5D. What is the focal length and nature of the lens? 

a. a) 40 cm/covex  b) 40 cm/concave 

b. c) 20 cm/ concave  d) 20 cm/convex. 

14.  An object is held at the principle focus of a concave lens of focal lengths F. Where is the 

image formed? 

a. a)  same side  b) opposite side 

b. c) at focus   d) none of these. 

15.  Three lenses with power 2 D, 3 D and 10 D form a combination. What is its total power? 

a. a) 60 D   b) 15 D 

b. c)  50 D   d) 30 D 

16.  In the position of minimum diviation 

a. a) i> e  b) i< e 

b. c) I = e  d) none of these. 

17.  Dispersion of light is not caused by 

a. a)  prism  b) water droplets 

b. c) glass slab d)  none of these. 

18.  Out of red or blue light, for which colour is the refractive of glass is greater? 

a. a) red   b) blue 

b. c) same for both  d) none of these. 
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19. Focal length of convex lens of refractive index 1.5 is 10 cm .if it is immersed in a liquid 

of refractive index 3, then the focal length of this lens, will be same sa. 

a. Convex lens having focal length 10 cm 

b. Concave  lens having focal length 10 cm 

c. Concave lens having focal length 10/3cm 

d. Convex lens having focal length 30 cm 

 

20. If the radius of curvature of convex mirror is 40 cm and the size of object is twice as that 

of the image, then image distance should be 

a) 10 cm 

b) 20 cm 

c) 30 cm 

d) 40 cm 

21. How the power of a convex lens vary, if the incident red light is replaced by violet light? 

a. a) Increases  b) decreases 

b. c) no change  d) none of these. 

22. The velocity of light  is maximum in a medium of:- 

(a).Diamond            

(b). Water  

(c). Glass  

(d). Vacuum  

 

23. A virtual image larger than the object can be obtained by 

(a) concave mirror  

(b) convex mirror 

(c) plane mirror  

(d) concave lens 

24. An object is placed 40 cm from a concave mirror of focal length 20 cm. The image 

formed is 

(a) real, inverted and same in size 

(b) real, inverted and smaller 

(c) virtual, erect and larger 

(d) virtual, erect and smaller 

  

25.  For the angle of minimum deviation of a prism to be equal to its refracting angle, the 

prism must be made of a material whose refractive index 

(a) lies between √2 and 1 

(b) lies between 2 and √2 

(c) is less than 1 

(d) (d) is greater than 2 
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SAMPLE PAPER (2022-23)  

CHEMISTRY THEORY  

(043) 

MM:70                                                                                  Time: 3 hours  

General Instructions:  

Read the following instructions carefully. 

a) There are 35 questions in this question paper with internal choice. 

b) SECTION A consists of 18 multiple-choice questions carrying 1 mark each. 

c) SECTION B consists of 7 very short answer questions carrying 2 marks each. 

d) SECTION C consists of 5 short answer questions carrying 3 marks each. 

e) SECTION D consists of 2 case- based questions carrying 4 marks each. 
f) SECTION E consists of 3 long answer questions carrying 5 marks each. 

g) All questions are compulsory.  

h) Use of log tables and calculators is not allowed 

SECTION A  

The following questions are multiple-choice questions with one correct answer. Each 
question carries 1 mark. There is no internal choice in this section.  

1. The major product of acid catalysed dehydration of 1-methylcyclohexanol is: 

a. 1-methylcyclohexane 
b.  1-methylcyclohexene 
c. 1-cyclohexylmethanol 
d. 1-methylenecyclohexane   

2. Which one of the following compounds is more reactive towards SN1 reaction? 

a. CH2=CHCH2Br    
b. C6H5CH2Br   
c. C6H5CH (C6H5)Br  
d.  C6H5CH(CH3) Br 

3. KMnO4 is coloured due to: 

a. d-d transitions 
b. charge transfer from ligand to metal 
c. unpaired electrons in d orbital of Mn 
d. charge transfer from metal to ligand 
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4. Which radioactive isotope would have the longer half- life 15O or 19O? (Given rate 
constants for 15O and   19O  are 5.63x 10-3 s-1 and k = 2.38 x 10-2s-1 respectively.) 

a. 15O    
b. 19O   
c. Both will have the same half-life  
d. None of the above, information given is insufficient  

5. The molar conductivity of CH3COOH at infinite dilution is 390 Scm2/mol. Using the 
graph and given information, the molar conductivity of CH3COOK will be: 

 
 
a.  100 Scm2/mol 
b. 115 Scm2/mol 
c.  150 Scm2/mol 
d. 125 Scm2/mol 

 
*FOR VISUALLY CHALLENGED LEARNERS 
 
*5.  What is the molar conductance at infinite dilution for sodium chloride if the molar 

conductance at infinite dilution of Na+ and Cl- ions are 51.12 × 10-4 Scm2/mol and 
73.54× 10-4 Scm2/mol respectively? 

 
a.  124.66 Scm2/mol 
b. 22.42 Scm2/mol 
c.  198.20Scm2/mol 
d. 175.78 Scm2/mol 
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6. For the reaction, A +2B  AB2,  the order w.r.t. reactant A is 2 and w.r.t. reactant B. 
What will be change in rate of reaction if the concentration of A is doubled and B is 
halved? 

a.  increases four times 
b.  decreases four times 
c.  increases two times 
d. no change 
 

7. Arrange the following in the increasing order of their boiling points: 

      A : Butanamine, B: N,N-Dimethylethanamine, C: N- Etthylethanaminamine  

a. C<B<A  
b.  A<B<C   
c.  A<C<B    
d.  B<C<A 

8. The CFSE of [CoCl6]3- is 18000 cm-1 the CFSE for [CoCl4]- will be:   

a. 18000 cm-1 
b. 8000cm-1 
c. 2000 cm-1 
d. 16000 cm-1 

9. What would be the major product of the following reaction? 

         C6H5 -CH2-OC6H5 + HBr  A + B  

a. A= C6H5CH2OH , B= C6H6  
b. A=C6H5CH2OH ,B= C6H5Br  
c. A=C6H5CH3  ,B= C6H5Br  
d. A=C6H5CH2Br , B= C6H5OH 

10. Which of the following statements is not correct for amines? 

a. Most alkyl amines are more basic than ammonia solution.  
b. pKb value of ethylamine is lower than benzylamine. 
c. CH3NH2 on reaction with nitrous acid releases NO2 gas.  
d. Hinsberg’s reagent reacts with secondary amines to form sulphonamides.  

11. Which of the following tests/ reactions is given by aldehydes as well as ketones? 

a. Fehling’s test 
b. Tollen’s test 
c. 2,4 DNP test 
d. Cannizzaro reaction 
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12. Arrhenius equation can be represented graphically as follows: 

 

 
 

 

 

 

 

        The (i) intercept and (ii) slope of the graph are: 

a. (i) ln A (ii) Ea/R 
b. (i) A     (ii) Ea 
c. (i)ln A  (ii) - Ea/R 
d. (i) A     (ii)  -Ea              

 
 
*FOR VISUALLY CHALLENGED LEARNERS 
 
*12.       The unit of rate constant for the reaction 

             2A + 2B → A2B2 
          which has rate = k [A]2[B] is: 

a.  mol L-1s-1 
b. s-1 
c. mol L-1    
d. mol-2 L2 s-1 

13. The number of ions formed on dissolving one molecule of FeSO4.(NH4)2SO4.6H2O 
in water is: 

a. 3 
b. 4 
c. 5 
d. 6 

14. The oxidation of toluene to benzaldehyde by chromyl chloride is called 

a. Etard reaction 
b. Riemer-Tiemann reaction 
c. Stephen’s reaction 
d. Cannizzaro’s reaction 

15. Given below are two statements labelled as Assertion (A) and Reason (R)  
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Assertion (A): An ether is more volatile than an alcohol of comparable molecular                 
mass. 

Reason (R): Ethers are polar in nature.        
    Select the most appropriate answer from the options given below:  

a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true but R is not the correct explanation of A.  
c. A is true but R is false.  
d. A is false but R is true. 

 

16. Given below are two statements labelled as Assertion (A) and Reason (R)  
 
Assertion (A): Proteins are found to have two different types of secondary     

structures viz alpha-helix and beta-pleated sheet structure.                                                        
Reason (R): The secondary structure of proteins is stabilized by hydrogen 

bonding.      
Select the most appropriate answer from the options given below:  

a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true but R is not the correct explanation of A.  
c. A is true but R is false.  
d. A is false but R is true. 

    

17. Given below are two statements labelled as Assertion (A) and Reason (R)  

 
Assertion : Magnetic moment values of actinides are lesser than the 

theoretically predicted values. 
Reason : Actinide elements are strongly paramagnetic.       

 Select the most appropriate answer from the options given below:  
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true but R is not the correct explanation of A.  
c. A is true but R is false.  
d. A is false but R is true.  
 

18. Given below are two statements labelled as Assertion (A) and Reason (R)  
 
Assertion (A): Tertiary amines are more basic than corresponding secondary 

and primary amines in gaseous state. 
Reason (R): Tertiary amines have three alkyl groups which cause +I effect. 

 Select the most appropriate answer from the options given below:  
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true but R is not the correct explanation of A.  
c. A is true but R is false.  
d. A is false but R is true. 
    

SECTION B 
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This section contains 7 questions with internal choice in two questions. The following 
questions are very short answer type and carry 2 marks each. 

19. A first-order reaction takes 69.3 min for 50% completion. What is the time needed for 
80% of the reaction to get completed?  
(Given: log 5 =0.6990, log 8 = 0.9030, log 2 = 0.3010) 

 
20. Account for the following:  

a. There are 5 OH groups in glucose  
b. Glucose is a reducing sugar  

 
OR 

 
      What happens when D – glucose is treated with the following reagents  

a. Bromine water   
b.  HNO3 

 
21. Give reason for the following: 

a. During the electrophilic substitution reaction of haloarenes, para 
substituted derivative is the major product. 

b. The product formed during SN
1 reaction is a racemic mixture. 

OR 

a. Name the suitable alcohol and reagent, from which 2-Chloro-2-methyl 
propane can be prepared. 

b. Out of the Chloromethane and Fluoromethane , which one is has higher 
dipole moment and why? 

 
22. The formula Co(NH3)5CO3Cl could represent a carbonate or a chloride. Write the 

structures and names of possible isomers. 
 

23.  Corrosion is an electrochemical phenomenon. The oxygen in moist air reacts as   
follows: 

                 O2(g) + 2H2O(l) + 4e– → 4OH– (aq). 

Write down the possible reactions for corrosion of zinc occurring at anode, cathode, and 
overall reaction to form a white layer of zinc hydroxide. 

24. Explain how and why will the rate of reaction for a given reaction be affected when 
a. a catalyst is added  
b. the temperature at which the reaction was taking place is decreased 

 
25. Write the reaction and IUPAC name of the product formed when 2-Methylpropanal 

(isobutyraldehyde) is treated with ethyl magnesium bromide followed by hydrolysis. 
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SECTION C 
 

This section contains 5 questions with internal choice in two questions. The following 
questions are short answer type and carry 3 marks each. 
 
26. Write the equations for the following reaction:  

a. Salicylic acid is treated with acetic anhydride in the presence of conc.         
H2SO4 

b. Tert butyl chloride is treated with sodium ethoxide. 
c. Phenol is treated with chloroform in the presence of NaOH 
 

27.  Using Valence bond theory, explain the following in relation to the paramagnetic  
complex [Mn(CN)6]3-  

a. type of hybridization 
b. magnetic moment value 
c. type of complex – inner, outer orbital complex 

 
28. Answer the following questions: 

a. State Henry’s law and explain why are the tanks used by scuba divers 
filled with air diluted with helium (11.7% helium, 56.2% nitrogen and 
32.1% oxygen)? 

b. Assume that argon exerts a partial pressure of 6 bar. Calculate the 
solubility of argon gas in water. (Given Henry’s law constant for argon 
dissolved in water, KH = 40kbar) 
 

29. Give reasons for any 3 of the following observations:  
a. Aniline is acetylated before nitration reaction. 
b. pKb of aniline is lower than the m-nitroaniline. 
c. Primary amine on treatment with benzenesulphonyl chloride forms a 

product which is soluble in NaOH however secondary amine gives product 
which is insoluble in NaOH. 

d. Aniline does not react with methyl chloride in the presence of anhydrous     
   AlCl3 catalyst. 
  

 30.          a. Identify the major product formed when 2-cyclohexylchloroethane              
undergoes a dehydrohalogenation reaction. Name the reagent which is 
used to carry out the reaction.                                                                     

                b.   Why are haloalkanes more reactive towards nucleophilic substitution   
    reactions than haloarenes and vinylic halides? 

 
OR 

 
a. Name the possible alkenes which will yield 1-chloro-1-methylcyclohexane 

on their reaction with HCl. Write the reactions involved. 

b.  Allyl chloride is hydrolysed more readily than n-propyl chloride. Why? 
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SECTION D 

    The following questions are case-based questions. Each question has an internal 
choice and carries 4 (1+1+2) marks each. Read the passage carefully and answer the 
questions that follow.  

31.       Strengthening the Foundation: Chargaff Formulates His "Rules" 

Many people believe that  James Watson and Francis Crick discovered DNA in the 

1950s. In reality, this is not the case. Rather, DNA was first identified in the late 

1860s by Swiss chemist Friedrich Miescher. Then, in the decades following 

Miescher's discovery, other scientists--notably, Phoebus Levene and Erwin 

Chargaff--carried out a series of research efforts that revealed additional details 

about the DNA molecule, including its primary chemical components and the ways 

in which they joined with one another. Without the scientific foundation provided 

by these pioneers, Watson and Crick may never have reached their 

groundbreaking conclusion of 1953: that the DNA molecule exists in the form of a 

three-dimensional double helix. 

Chargaff, an Austrian biochemist, as his first step in this DNA research, set out to 

see whether there were any differences in DNA among different species. After 

developing a new paper chromatography method for separating and identifying 

small amounts of organic material, Chargaff reached two major conclusions: 

(i) the nucleotide composition of DNA varies among species.  

     (ii) Almost all DNA, no matter what organism or tissue type it comes from maintains 

certain properties, even as its composition varies. In particular, the amount of 

adenine (A) is similar to the amount of thymine (T), and the amount of guanine (G) 

approximates the amount of cytosine (C). In other words, the total amount of 

purines (A + G) and the total amount of pyrimidines (C + T) are usually nearly 

equal. This conclusion is now known as "Chargaff's rule." 

Chargaff’s rule is not obeyed in some viruses. These either have single- stranded 

DNA or RNA as their genetic material. 

          Answer the following questions: 
 

a. A segment of DNA has 100 adenine and 150 cytosine bases. What is the 

total number of nucleotides present in this segment of DNA?    

b.  A sample of hair and blood was found at two sites. Scientists claim that the 

samples belong to same species. How did the scientists arrive at this 

conclusion?      

c. The sample of a virus was tested and it was found to contain 20% adenine, 

20% thymine, 20 % guanine and the rest cytosine. Is the genetic material 

of this virus (a) DNA- double helix (b) DNA-single helix (c) RNA? What do 

you infer from this data?  
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OR 

 

How can Chargaff’s rule be used to infer that the genetic material of an 

organism is double- helix or single- helix? 

 

32. Henna is investigating the melting point of different salt solutions.  
She makes a salt solution using 10 mL of water with a known mass of NaCl salt.  
She puts the salt solution into a freezer and leaves it to freeze.  
She takes the frozen salt solution out of the freezer and measures the 
temperature when the frozen salt solution melts.  
She repeats each experiment. 
   

S.No Mass of the salt 
used in g 

Melting point in 0C 

Readings Set 1 Reading Set 2 

1 0.3 -1.9 -1.9 

2 0.4 -2.5 -2.6 

3 0.5 -3.0 -5.5 

4 0.6 -3.8 -3.8 

5 0.8 -5.1 -5.0 

6 1.0 -6.4 -6.3 
 
             
            Assuming the melting point of pure water as 0oC, answer the following   
            questions:  

a. One temperature in the second set of results does not fit the pattern. 
Which temperature is that? Justify your answer. 

b. Why did Henna collect two sets of results? 
c. In place of NaCl, if Henna had used glucose, what would have been the 

melting point of the solution with 0.6 g glucose in it?  
 

OR 

What is the predicted melting point if 1.2 g of salt is added to 10 mL of 
water? Justify your answer. 

 

SECTION E 

    The following questions are long answer type and carry 5 marks each. Two questions 
have an internal choice. 

33.        a. Why does the cell voltage of a mercury cell remain constant during its             
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                 lifetime? 
b. Write the reaction occurring at anode and cathode and the products of      
        electrolysis of aq KCl.   
c. What is the pH of HCl solution when the hydrogen gas electrode shows     
        a potential of -0.59 V at standard temperature and pressure? 

 
OR 

 
 a. Molar conductivity of substance “A”  is 5.9×103 S/m and “B” is 1 x 10-16 

S/m. Which of the two is most likely to be copper metal and why?  
b. What is the quantity of electricity in Coulombs required to produce 4.8 g of 

Mg from molten MgCl2? How much Ca will be produced if the same 
amount of electricity was passed through molten CaCl2? (Atomic mass of 
Mg = 24 u, atomic mass of Ca = 40 u). 

c. What is the standard free energy change for the following reaction at room 
temperature? Is the reaction spontaneous? 

     Sn(s) + 2Cu2+ (aq) à Sn2+ (aq) + 2Cu+ (s)                                                  

34. A hydrocarbon (A) with molecular formula C5H10 on ozonolysis gives two products 

(B) and ( C). Both (B) and (C) give a yellow precipitate when heated with iodine in 

presence of NaOH while only (B) give a silver mirror on reaction with Tollen’s 

reagent. 

a. Identify (A), (B) and (C). 

b. Write the reaction of B with Tollen’s reagent 

c. Write the equation for iodoform test for C 

d. Write down the equation for aldol condensation reaction of B and C. 

OR 

    An organic compound (A) with molecular formula C2Cl3O2H is obtained when (B) 

reacts with Red P and Cl2. The organic compound (B) can be obtained on the 

reaction of methyl magnesium chloride with dry ice followed by acid hydrolysis. 

a. Identify A and B 

b. Write down the reaction for the formation of A from B. What is this reaction 

called? 

c. Give any one method by which organic compound B can be prepared from 

its corresponding acid chloride. 

d. Which will be the more acidic compound (A) or (B)? Why? 

e. Write down the reaction to prepare methane from the compound (B). 

35. Answer the following:  
a. Why are all copper halides known except that copper iodide? 
b. Why is the Eo

(V3+/V2+) value for vanadium comparatively low? 
c. Why HCl should not be used for potassium permanganate titrations?  
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d. Explain the observation, at the end of each period, there is a slight 
increase in the atomic radius of d block elements. 

e. What is the effect of pH on dichromate ion solution? 
 



 

KENDRIYA VIDYALAYA K AREA ZIRAKPUR 

AUTMN BREAK  (2022-23) HOMEWORK 

CLASS: XII                                                SUBJECT : MATHEMATICS 

INSTRUCTIONS: Do all these questions in a separate file (A-4 sheets) 

CONTINUITY AND DIFFRENTIABILITY 

1. For what value of k is the following function continuous at x = 2 ?   
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, continuous at x = 1, find the values of a and b. 

3. If f(x), defined by the following is continuous at x = 0, find the values of a, b, c 
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APPLICATIONS OF DERIVATIVES 

 

1)  Find the point on the curve y2 = 8x for which the abscissa and ordinate change at the 

same rate?       

2)  A man 2 metre high walks at a uniform speed of 6km /h away from a lamp post 6 metre 

high.Find the rate at which the length of his shadow increases. Also find the rate at which 

the tip of the shadow is moving away from the lamp post.  

3) A ladder 5m long is leaning against a wall. Bottom of ladder is pulled  along the ground 

away from   wall at the rate of 2m/s. How fast is the height on the wall decreasing when 

the foot of ladder is 4m away from the wall?    

4) A particle moves along the curve 6 y = x3 +  2., Find the points on the curve at which y- 

                  coordinate is changing 8 times as fast as the x-coordinate.    

5)  Water is leaking from a conical funnel at the rate of 5 cm3/sec. If the radius of the base 

of  the funnel is 10 cm and altitude is 20 cm, Find the rate at which water level is 

dropping when it is 5 cm from top.    

6) Find the intervals in which the function f(x) = sin x – cos x, 0< x< 2isincreasing or 

decreasing. 

7) Show that the function  f(x) = 
x

xsin
 is strictly decreasing on ( 0, /2) 

8) Find the intervals in which the function f(x) = 
x

xlog
 increasing or decreasing. 

9) Find the interval in which the function f(x)=2x3 +9x2 +12x +20  is (i) increasing (ii) 

decreasing 

10)  Find the interval in which the function f(x) = (x+1)3(x-1)3  

11) Show that the height of cylinder of maximum volume that can be inscribed in a sphere of 

radius R is 
2𝑅

√3.
.                                        

12)  Show that the semivertical angle of  a cone of maximum volume and of given slant hight  

is  tan−1 √2.                                                                                             

13) Length of three sides of a trapezium other than base is equal to 10cm each, then   find the 

area of the trapezium when it is maximum ?                                     

14) Find the point on the curve y2= 2x which is at minimum distance from the point (1,4)   

15) An open box with a square base is to be made out of a  given quantity of card board of 

area c2 square units. Show that the maximum volume of the box is 
36

c3

 cubic units. 

16) A window is in the shape of a rectangle surmounted by an equilateral triangle. If the 

perimeter of the window is 12 m, find the dimensions of the rectangle that will produce 

the largest area of the window.        

  

 



DEFINITE INTEGRALS 
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APPLICATIONS OF INTEGRATION 
 

1. Find the area of the region included between the parabola y2 = x and the line x + y = 2. 

 

2. Find the area of the region bounded by  x2 = 4y, y = 2, y = 4 and the y-axis in the first  

quadrant.  
 

3.  Using integration compute the area of the region bounded by the triangle whose vertices are  

(2 , 1), (3 , 4), and (5 , 2). 

 

4.  Using integration compute the area of the region bounded by the triangle whose vertices are  

(–1 , 1),  (0 , 5), and (3 , 2).  

 

5. Using integration compute the area of the region bounded by the linesx + 2y = 2,     

                              y – x =1,  and 2x + y = 7.   

 

6. Using the method of integration finds the area of the region bounded by the lines:   2x+y=4, 

3x-2y=6 and x-3y+5=0. 



     केन्द्रीय विद्यालय के एरिया  

      जीिकपुि 

      कक्षा 12 व िंदी   

शिदािकाश गृ कायय  

1. पाठ वशिीष के फूल के प्रश्नोत्ति वलखें तथा वितम्बि मा  में पढ़े गए िभी पाठ 

अच्छी ति  याद  किें  | 

2. वितम्बि मा  की माविक पिोक्षा का प्रश्न पत्र अपनी अभ्याि पुस्तिका में  ल 

किें  | 

3 .अध्यापक द्वािा भेजे गए कक्षा 12 के प्रश्न पत्र को   ल किें  | 

4. कला िमेवकत परियोजना कायय को पूिा किें  |  

 

 

 

 

 



KENDRIYA VIDYALAYA ‘K’AREA ZIRAKPUR 

HOLIDAY HOMEWORK 2022-23(AUTUMN  BREAK) 

CLASS- XII 

BIOLOGY 

1- Complete the practical file, write core experiments and spotting from lab manual.  

2- Make “investigatory project” with following heading in it.  

First page- topic, submitted to/submitted by 

 Certificate  

 Acknowledgment 

 Contents  

 Introduction  

 Theory  

 Observation 

 Conclusion  

 Bibliography 

3.Solve question paper of monthly test(only those questions which were incorrect) in your 

biology notebook. 

4. Make art integrated project. 

5. All the students are required to revise the syllabus covered for preboard exams thoroughly. 

 

ASSIGNMENT 

 

Q.NO Section A M

M 

1 A dicotyledonous plant bears flowers but never produces fruits and seeds. The most 

probable cause for the above situation is 

(a) Plant is dioecious and bears only pistillate flowers 

(b) Plant is dioecious and bears both pistillate and staminate flowers 

(c) Plant is monoecious 

(d) Plant is dioecious and bears only staminate flowers. 

 

 

2 During microsporogenesis, meiosis occurs in 

(a) Endothecium 

 (b) Microspore mother cells 

(c) Microspore tetrads  

(d) Pollen grains 

 

 

3 From among the situations given below, choose the one that prevents both autogamy 

and geitonogamy. 

(a) Monoecious plant bearing unisexual flowers 

 



(b) Dioecious plant bearing only male or female flowers 

(c) Monoecious plant with bisexual flowers 

(d) Dioecious plant with bisexual flowers 

 

4  Match the following and choose the correct options: 

 
Options: 

(a) A—ii, B—i, C—iii, D—iv                                    

(b) A—iii, B—iv, C—ii, D—i 

(c) A—iii, B—i, C—ii, D—iv                                      

(d) A—ii, B—iv, C—iii, D—i 

 

 

5 The membranous cover of the ovum at ovulation is 

(a) Corona radiata  

(b) Zonaradiata 

(c) Zona pellucida  

(d) Chorion 

 

 

6 Urethral meatus refers to the 

(a) Urinogenital duct 

(b) Opening of vas deferens into urethra 

(c) External opening of the urinogenital duct 

(d) Muscles surrounding the urinogenital duct 

 

7 Condoms are one of the most popular contraceptives because of the following reasons: 

(a) These are effective barriers for insemination 

(b) They do not interfere with coital act 

(c) These help in reducing the risk of STDs 

(d) All of the above 

 

8 Emergency contraceptives are effective if used within 

(a) 72 hrs of coitus 

 (b) 72 hrs of ovulation 

(c) 72 hrs of menstruation  

(d) 72 hrs of implantation 

 

 

9 Choose the correct statement regarding the ZIFT procedure: 

(a) Ova collected from a female donor are transferred to the fallopian tube to facilitate 

zygote formation. 

(b) Zygote is collected from a female donor and transferred to the fallopian tube 

(c) Zygote is collected from a female donor and transferred to the uterus 

 



(d) Ova collected from a female donor and transferred to the uterus 

 

10 If a genetic disease is transferred from a phenotypically normal but carrier female to 

only some of the male progeny, the disease is 

(a) Autosomal dominant 

 (b) Autosomal recessive 

(c) Sex-linked dominant  

(d) Sex-linked recessive 

 

 

11 ZZ/ZW type of sex determination is seen in 

(a) Platypus  

(b) Snails 

(c) Cockroach  

(d) Peacock 

 

 

12 It is an Autosomal disorder that is caused by the trisomy of 21st chromosome 

 a) Turner’s syndrome  

b) Edward syndrome 

 c) Klinefelter’s syndrome  

d) Down’s syndrome 

 

 

13  A nucleoside differs from a nucleotide. It lacks the 

(a) Base  

(b) Sugar 

(c) Phosphate group t  

(d) Hydroxyl group 

 

 

14 In a DNA strand the nucleotides are linked together by 

(a) Glycosidic bonds 

 (b) Phosphodiester bonds 

(c) Peptide bonds 

 (d) Hydrogen bonds 

 

 

15 7. Which of the following statements is the most appropriate for sickle cell anaemia? 

(a) It cannot be treated with iron supplements 

(b) It is a genetic disorder. 

(c) It confers resistance to acquiring malaria 

(d) All of the above 

 

 

16 The first genetic material could be 

(a) Protein  

(b) Carbohydrates  

(c) DNA  

(d) RNA 

 

 

17 Starting from the innermost part, the correct sequence of parts in an ovule are 

(a) Egg, nucellus, embryo sac, integument. 

(b) Egg, embryo sac, nucellus, integument. 

(c) Embryo sac, nucellus, integument, egg 

 



(d) Egg, integument, embryo sac, nucellus 

 

18 From the statements given below, choose the option that are true for a typical female 

gametophyte of a flowering plant. 

i. It is 8-nucleate and 7-celled at maturity 

ii. It is free-nuclear during the development 

iii. It is situated inside the integument but outside the nucellus 

iv. It has an egg apparatus situated at the chalazal end 

(a) i and iv  

(b) ii and iii 

(c) i and ii  

(d) ii and iv 

 

 

19 Identify the correct statement from the following: 

(a) High levels of estrogen triggers the ovulatory’ surge 

(b) Oogonial cells start to proliferate and give rise to functional ova in regular cycles 

from puberty onwards. 

(c) Sperms released from seminiferous tubules are highly motile. 

(d) Progesterone level is high during the post ovulatory phase of menstrual cycle. 

 

 

20 Seminal plasma, the fluid part of semen, is contributed by 

i. Seminal vesicle 

ii. Prostate 

iii. Urethra 

iv. Bulbourethral gland 

(a) i and ii  

(b) i, ii and iv 

(c) ii, iii and iv 

 (d) i and iv 

 

 

21  A cross between two tall plants resulted in offspring having few dwarf plants. What 

would be the genotypes of both the parents? 

(a) TT and Tt  

(b) Tt and Tt 

(c) TT and TT  

(d) Tt and tt 

 

 

22  Mendel’s Law of independent assortment holds good for genes situated on the 

(a) non-homologous chromosomes 

(b) Homologous chromosomes 

(c) Extra nuclear genetic element  

(d) Same chromosome. 

0.7 

23 The RNA polymerase holoenzyme transcribes 

(a) The promoter, structural gene and the terminator region 

(b) The promoter and the terminator region 

(c) The structural gene and the terminator regions 

(d) The structural gene only 

 

 



24 If Meselson and Stahl’s experiment is continued for third generations in bacteria, the 

ratio of 15N/15N: 15N/14N: 14N/14N containing DNA in the generation would be 

(a) 1: 1: 0  

(b) 1: 4: 0  

(c) 0:1:3  

(d) 0:1:7 

 

 

                                                          Section B  

 Read the Assertion and Reason carefully to mark the correct option out of the options 

given below: 

(a)If both the Assertion and the Reason are true and the Reason is a correct explanation 

of the Assertion. 

(b) If both the Assertion and Reason are true but the Reason is not a correct explanation 

of the Assertion 

(c) If the Assertion is true but the Reason is false. 

(d) If both the Assertion and Reason are false 

 

25 Assertion: Viruses having shorter life span, mutate and evolve faster. 

Reason: Viruses have generally RNA genome. 

 

26 Assertion: Ribosomal RNA is synthesized in the cytoplasm of the cell. 

Reason: It is translated with the enzyme RNA polymerase III. 

 

27 Assertion: Sickle-cell anaemia is a genetically determined disorder affecting many new 

born babies.  

Reason: It is caused by heterozygosity for allele HbS producing a single amino acid 

substitution in the a-chain of the normal haemoglobin molecule determined by allele 

HbA . 

 

28 Assertion: The persons with Klinefelter syndrome are sterile males. 

 Reason: Klinefelter syndrome is due to trisomy. 

 

 

29 The phenomenon observed in some plants wherein parts of the sexual apparatus is used 

for forming embryos without fertilisation is called 

(a) Parthenocarpy 

 (b) Apomixis 

(c) Vegetative propagation 

 (d) Sexual reproduction 

 

 

30 In a flower, if the megaspore mother cell forms megaspores without undergoing meiosis 

and if one of the megaspores develops into an embryo sac, its nuclei would be 

(a) Haploid 

(b) Diploid 

(c) A few haploid and a few diploid 

(d) With varying ploidy 

 

31 Which of the following hormones is not secreted by human placenta? 

(a) hCG 

(b) Oestrogens  

(c) Progesterone 

 (d) LH 

 

 

32 Which among the following has 23 chromosomes? 

(a) Spermatogonia  

 



(b) Zygote 

(c) Secondary oocyte  

(d) Oogonia 

 

33 Match between the following representing parts of the sperm and their functions and 

choose the correct option. 

 
Options: 

(a) A—ii, B—iv, C—i, D—iii 

(b) A—iv, B—iii, C—i, D—ii 

(c) A—iv, B—i, C—ii, D—iii 

(d) A—ii, B—i, C—iii, D—iv 

 

 

34 

 
The objective of the above experiment was to show that 

(a)DNA replicates semi conservatively 

(b)DNA is the genetic material . 

(c)RNA is the genetic material  

(d)None of the above 

 

35 The diagram below represents DNA fingerprint which are the result of gel 

electrophoresis done on several DNA samples found in crime scene 

 

 



 
Which suspect is linked to the crime scene by DNA analysis- 

(a)Suspect A 

(b)Suspect B 

(c)Suspect C 

(c)Suspect D 

36 What is true about cleavage in the fertilised egg in humans? 

 (a) It starts while the egg is in Fallopian tube.  

(b) It starts when the egg reaches uterus. 

 (c) It is meroblastic 

 (d) It is identical to the normal mitosis. 

 

 

37 In the event of pregnancy, the corpus luteum persists under the influence of  

(a) LH  

(b) FSH  

(c) chorionic gonadotropin  

(d) progesterone. 

 

 

38 A particular species of plant produces light, non-sticky pollen in large numbers and its 

stigmas are long and feathery. These modifications facilitate pollination by 

 (a) insects  

(b) water  

(c)wind  

(d) animals. 

 

 

39 256 microspores will form by the meiosis of- 

 (a) 512 microspore mother cells  

(b) 128 microspore mother cells  

(c) 64 microspore mother cells 

 (d) 48 microspore mother cells 

 

40 A haemophilic son born to normal parents. Give the genotype of parents:-  

(a) Mother XX father X cY  

(b)Mother X hX , father XY 

(c) Mother XX, father XY  

 



(d)None of the above 

41 Observe following diagram and give answers.  

 
Identify the following diagram.  

(a) EM Picture- Bead in String  

(b) Nucleosome 

(c) Linker DNA 

(d)Histone 

 

42 Give the term for Regions in given structure which are loosely packed and stains 

lightly.  

(a) Heterochromatin  

(b) Euchromatin  

(c) Pseudo chromatin 

(d) None of above 

 

43 Select the two correct statements out of the four (l-IV) given below about Lac operon.  

I. Glucose or galactose may bind with the repressor and inactivate it. 

II. in the absence of lactose the repressor binds with the operator region  

III. The z-gene codes for region  

IV. This was elucidated by Francois Jacob and Jacques Monad  

The correct statement is:  

(a) II and III  

(b) I and III  

(c) II and IV 

(d) I and II 

 

44 Foetal ejection reflex in human female induces 

(a) release of hormones from placenta 

 (b) growth and development of ovarian follicles  

(c) release of oxytocin from maternal pituitary  

(d)release of prolactin from pituitary 

 

45 In mammals, the first part of oogenesis starts in the germinal epithelium, which gives 

rise to the development of ovarian follicles, the functional unit of ovary. Oogenesis 

consists of several sub processes: oocytogenesis, ootidogenesis, and finally maturation 

to form an ovum Folliculogenesis is a separate sub process that accompanies all three 

oogenetic sub processes .  

Which cell division is involved in the formation of secondary oocyte? 

 (a) Mitosis 

 (b) Meiosis I  

(c)Amitosis  

(d) Meiosis II 

 

46 Which of the following methodology is used to identify all the genes that are expressed 

as RNA in Human Genome Project (HGP)?  

(a) Sequence Annotation 

(b) Expressed Sequence Tags  

(c) Karyotyping  

(d) Ammonification. 

 

47 For the translation to be initiated which of the following does not occur?  



 (a) Ribosome recruitment to the mRNA  

(b) Positioning of ribosome on ‘GUG’  

(c) Addition of charged tRNA to the A site  

(d) Binding of the large and small subunits of the ribosome 

 

48 What were the main criteria taken under consideration for the experiment by Hershey 

and Chase? 

 (a) DNA contains phosphorus, protein contains sulphur  

(b) Protein contains phosphorus, DNA contains sulphur 

 (c) Both DNA and protein contains phosphorus and not sulphur 

 (d) Both DNA and protein contains sulphur and not phosphorus 

 

 

 

 Section C  

49 Read the following and answer the questions from 31(i) to 31(v) given below: 

Haemophilia is a genetic disorder of rare blood condition where people do not have the 

clotting factor which enables their blood to clot when bleeding. It’s an inherited disease 

that’s usually passed from mother to son. Haemophilia has been called a “royal 

disease”. This is because the haemophilia gene was passed from Queen Victoria, who 

became Queen of England in 1837, to the ruling families of Russia, Spain and 

Germany. Queen Victoria’s gene for haemophilia was caused by spontaneous mutation. 

Of her children, one son, Leopold, had haemophilia, and two daughters, Alice and 

Beatrice, were carriers. Beatrice’s daughter married into the Spanish royal family. She 

passed the gene to the male heir to the Spanish throne. Queen Victoria’s other daughter, 

Alice, had a carrier daughter, Alix. Alix became Empress Alexandra at her marriage to 

Russia’s Czar Nicholas in 1894. Their son, born in 1904 and named Alexis, inherited 

haemophilia from his mother. Haemophilia is a recessive disorder and it can be only 

appeared in a generation if mother is carrier for disease and father has haemophilia or 

both parents have haemophilia. 

Haemophilia is a/ an ___________ disease.  

(a) X linked  

(b) Autosomal dominant  

(c) Autosomal recessive  

(d) Y linked 

 

50 If the mother is carrier and father is normal than the chances of having normal son 

would be  

(a) 0 %  

(b) 25 %  

(c) 50 %  

(d) 75% 

 

51 If the maternal grandfather of a boy is haemophilic, maternal grandmother is normal 

and father is normal then what are the chances that he could have haemophilia disease? 

 (a) 25 % 

 (b) 50 % 

 (c) 75%  

(d) 0% 

 

52 If haemophilia is not present in a population than sudden appearance of haemophilia in 

a population would be due to 

 (a) Recombination  

(b) Mutation  

 



(c) Replication  

(d) None of these. 

53 Assertion: Haemophilia is a genetic disorder of rare blood condition where people do 

not have the clotting factor. 

 Reason: Due to low thromboplastin concentration.  

(a) Both assertion and reason are true, and reason is the correct explanation of assertion.  

(b) Both assertion and reason are true, but reason is not the correct explanation of 

assertion.  

(c) Assertion is true but reason is false.  

(d) Both assertion and reason are false. 

 

54 Assertion: Haemophilia is a genetic disorder generally found in males.  

Reason: Haemophilia is a sex-linked trait and the gene for haemophilia is located on the 

Y chromosome. 

(a) Both assertion and reason are true, and reason is the correct explanation of assertion.  

(b) Both assertion and reason are true, but reason is not the correct explanation of 

assertion.  

(c) Assertion is true but reason is false.  

(d) Both assertion and reason are false. 

 

55 Identify ‘A’ and ‘B’ in the following diagram of a mature pollen grain. 

 
 (a) A- Generative cell B- Vegetative cell 

 (b) A- Vegetative cell B- Generative cell  

(c) A- vacuole B- Nucellus  

(d) A- Nucleus B- Vacuole 

 

56 How many sperms and ova will be produced from 50 primary spermatocytes and 50 

oocytes respectively 

 (a) 200 sperms,50 ova 

 (b)100 sperms, 200 ova 

 (c )100 sperms, 50 ova  

(d) 50 sperms, 100 ova 

 

57 Progestin- estradiol combined contraceptive pills inhibit ovulation by:  

(a) Negative feedback on the release of estrogen from ovary required for follicular 

development in follicular phase 

 (b) Preventing the uterine physiological and morphological changes required for 

implantation  

(c) Inhibiting the secretion of FSH and LH that are necessary for ovulation 

(d) Both (a) and (c) 

 

58 Arrange the following events in the order of synthesis of a protein  

i)A peptide bond forms  

ii) A tRNA matches its anticodon to the codon in the A- site  

iii) The movement of second tRNA complex from A-site to P-site  

iv) The large subunit attaches to the small subunit and the initiator tRNA fits in the P-

site  

 



v) A small subunit binds to the mRNA 

vi) The activated amino acid tRNA complex attaches the initiation codon on mRNA 

(a) iv, v, iii, ii, i, vi 

(b) iv, vi, v, ii, I, iii 

(c) v, iv, iii, ii, vi, I  

(d) v, vi, iv, ii, i, ii 

59 Read the following statements.  

I. Each testes have 25 compartments called testicular lobules. 

 II. Each testicular lobule contains one to three highly coiled seminiferous tubules in 

which sperms are produced. 

 III. Sertoli cells provide nutrition to testicles  

IV. Sertoli cells are activated by FSH Which of above statements are incorrect? 

(a) I and II  

(b)only I  

(c) II and IV  

(d)III and IV 

 

60 The significant aspect of reverse transcription is 

 (a) the flow information from DNA to RNA  

(b) the flow information from RNA to DNA  

(c) the flow information from RNA to proteins  

(d) both a and c 

 

61 A true breeding pea plant, homozygous dominant for inflated green podsis crossed with 

another pea plant with constricted yellow pods (ffgg). With the help of punnett square 

show the above cross and mention the results obtained phenotypically and genotypically 

in F1 generation? 

 

62 During a field trip, one of your friend in the group suddenly became unwell, she started 

sneezing and had trouble in breathing. Name and explain the term associated with such 

sudden responses. What would the doctor recommend for relief? 

 

63 CTTAAG  GAATTC  (a) What are such sequences called? Name the enzyme used that 

recognizes such nucleotide sequences. (b) What is their significance in biotechnology? 

 

64 Explain the functions of the following structures in the human male reproductive 

system. (a) Scrotum (b) Leydig cells (c) Male accessory glands 

 

65 State the agent(s) which helps in pollinating in the following plants. Explain the 

adaptations in these plants to ensure pollination: (a) Corn (b) Water hyacinth (c) 

Vallisneria 

 

66 (a) Identify the polarity of x to x’ in the diagram below and mention how many 

more amino acids are expected to be added to this polypeptide chain 

 

 



 
(b) Mention the codon and anticodon for alanine. (c) Why are some untranslated 

sequences of bases seen in mRNA coding for a polypeptide? Where exactly are 

they present on mRNA? 

67 (a) How is Hardy-Weinberg's expression “(p2 + 2pq+q 2 ) = 1”derived? (b) List any 

two factors that can disturb the genetic equilibrium. 

 

68 Highlight the structural importance of an antibody molecule with a diagram. Name the 

four types of antibodies found to give a humoral immune response, mentioning the 

functions of two of them you have studied.  

OR 

 (a) Explain the Life cycle of Plasmodium starting from its entry in the body of female 

Anopheles till the completion of its life cycle in humans.  

(b) Explain the cause of periodic recurrence of chill and high fever during malarial 

attack in humans. 
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Kendriya Vidyalaya K-Area, Zirakpur
Class XII English Core
Autumn break Holiday Homework
1. Go through and learn all lessons covered in the month of September.
2. Paste and solve all the questions of  September Monthly Test Question Paper.
3. Solve the Question Paper of English Core sent by the teacher.
4. Complete your Art-Integrated Project Work.


